RDMOTO CZECH REPUBLIC
info@rdmoto.cz
www.rdmoto.cz

K325

Kawasaki Versys 1000 2012-2017

Kit for left side: Kit for right side:
ID | Description Cat.n Qt ID | Description Cat.n Qt
1 Dural.adapter for slider DV-344 1 1 Dural.adapter for slider | DV-344 1
2 Bolt M6x25 877 3 2 Bolt M6x25 877 3
3 Bolt M4x16 876 2 3 Bolt M4x16 876 2
4 Bolt M10x125x1,25mm 924 1 4 Bolt M10x125x1,25mm 924 1
5 Pad M10 801 1 5 Pad M10 801 1

Fitting left side:

1. Take ou original bolt from frame.

2. Bolt ID.4 with pad ID.5 insert into the adapter ID.1. This set mounting the place on
frame.

3. Place slider and tighten it by bolts ID.2.

4. Place alu. cover into the slider use bolts ID.3.

Fitting right side:

1. Take ou original bolt from frame.

2. Bolt ID.4 with pad ID.5 insert into the adapter ID.1. This set mounting the place on
frame.

3. Place slider and tighten it by bolts ID.2.

4. Place alu. cover into the slider use bolts ID.3.

Warning - on the threads of the screws we recommend using glue medium
strong(blue).




RDMOTO CZECH REPUBLIC
info@rdmoto.cz
www.rdmoto.cz




